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(Application Oriented Course) 

AHE-01 : HUMAN ENVIRONMENT 

Time : 3 Hours     Maximum Marks : 100 

Note : Question No. 1 is compulsory. Attempt any 

five questions from Question Nos. 2 to 8. 

1. (a) Define the following terms : 5×2=10 

(i) Natality 

(ii) Biotic Environment 

(iii) Ecological Pyramids 

(iv) Ecosystem 

(v) Man-made Environment 
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(b) Read the statements given in Column I 
and Column II and match them : 5×1=5 

Column I Column II 

(i) Atmospheric 
inversion 

(1) Inhabited by 
living beings 

(ii) Zooplankton (2) Art of growing 
flowers, fruits 
and vegetables 

(iii) Biosphere (3) Inducing 

inheritable 
genetic change 

(iv) Horticulture (4) Microscopic 
aquatic animals 

(v) Mutagen (5) Lower layers of 
air cooler than 
at high altitude 

(c) Choose the correct alternative given in the 
parentheses : 5×1=5 

(i) (Bioaccumulation/Biomagnification) is 
a man-induced process in the 
ecosystem. 
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(ii) In (aerobic/anaerobic) soils and 
sediments hydrogen sulphide is 
formed by sulphate reducing bacteria. 

(iii) (Mutualism/Commensalism) is an 
interaction in which only one species 
benefits and other is unaffected. 

(iv) An area dedicated to conserve the 

environmental, natural and historical 
objects and to conserve wildlife  
there in is called (Wildlife Sanctuary/ 
Natural Park). 

(v) Organisms that synthesise their own 
food are (autotrophs/heterotrophs). 

(d) Indicate whether the following statements 
are true (T) or false (F) : 5×1=5 

(i) Land is the base for the emergence 
and development of all living forms. 

(ii) Global distribution of water is more 

than 5% of total quantity as fresh- 
water. 

(iii) The interaction in which both the 
organisms are benefitted is called 
commensalism. 
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(iv) The early human beings depended on 
agriculture for their existence. 

(v) Urbanization is the result of a large 

number of people residing in a limited 
area. 

2. (a) Discuss the potential hazards of industrial 
development. 7 

(b) Describe the interspecific relationship and 

explain how the population is controlled by 
them.  8 

3. Discuss the human activities that are 
responsible for deforestation, desertification 
and loss of wildlife. 15 

4. (a) Describe the effects of pollution on 
biological systems. 7 

(b) Discuss the effects of land degradation on 
the environment. 8 

5. (a) Write the occupation related diseases and 
their impact on health. 7 

(b) Explain the effect of waste generation on 
the environment. 8 
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6. (a) Explain the concept of sustainable 
development. 7 

(b) Discuss the status of wildlife conservation 
in India with a reference to Project Tiger. 8 

7. (a) Discuss the management of water quality.7 

(b) Write the role of non-governmental 
organisations as agents of change in 
environmental education. 8 

8. Write short notes on any three of the  
following :  5×3=15 

(a) Biomagnification 

(b) Traditional agriculture 

(c) Groundwater pollution 

(d) Biofertilizers 

(e) Importance of social awareness on 
environment 
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      AHE-01 

Lukrd mikf/ dk;ZØe@lh-bZ-,l-  

(ch- Mh- ih-) 

l=kkar ijh{kk 

twu] 2023 

(O;ogkjewyd ikB~;Øe) 

,-,p-bZ-&01 % ekuo i;kZoj.k 

le; % 3 ?k.Vs     vf/dre vad % 100 

uksV % iz'u la[;k 1 vfuok;Z gSA iz'u la[;k 2 ls 8 esa 

ls fdUgha ik¡p iz'uksa ds mÙkj nhft,A  

1- (d)  fuEufyf[kr 'kCnksa dks ifjHkkf"kr dhft, %  

      5×2=10   
 (i)   tUe nj 

 (ii)   tSfod i;kZoj.k 

 (iii)  ikfjfLFkfrd fijSfeM 

 (iv)  ikfjra=k 

 (v)   ekuo&fufeZr i;kZoj.k 
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([k)  dkWye I vkSj dkWye II esa fn, x, dFkuksa dks 

if<+, vkSj mudk lgh feyku dhft, % 5×1=5 

dkWye I dkWye II 

(i) ok;qeaMyh; 

izfrykseu@ 

O;qRØe.k 

(d) lthoksa dk fuokl 

gSa 

(ii) tarqIyod ([k) iq"iksa] iQyksa vkSj 

lfCt;ksa dks mxkus 

dh dyk 

(iii) thoeaMy (x) oa'kkxr vkuqoaf'kd 

ifjorZu dks izsfjr 

djrs gSa 

(iv) m|kfudh (?k) lw{en'khZ; tyh; 

izk.kh 

(v) E;wVktu (Ä) ok;q dh fupyh 

ijr Å¡pkbZ ij 

fLFkr ijr ls 

vf/d BaMh gksrh 

gS 
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(x)  dks"Bd eas fn, x, fodYiksa esa ls lgh fodYi 

dk p;u dhft, % 5×1=5 

 (i)   (tSolap;u@tSovko/Zu) ikfjra=k esa ,d 

ekuo&izsfjr izfØ;k gSA 

 (ii)   (ok;oh;@vok;oh;) ènkvksa vkSj 

volknksa esa gkbM ªkstu lYiQkbM lYiQsV 

vi?kVuh thok.kqvksa }kjk curk gSA 

 (iii)  (lgksidkfjrk@lgHkksftrk) ,d ,slh 

ijLijfØ;k gS ftlesa fliQZ ,d tkfr dks 

ykHk gksrk gS vkSj nwljh vizHkkfor jgrh 

gSA 

 (iv)  ,d ,slk {ks=k tks i;kZoj.kh;] izkdf̀rd 

vkSj ,sfrgkfld oLrqvksa ds laj{k.k vkSj 

ogk¡ ds oU;thoksa ds laj{k.k ds fy, 

lefiZr gksrk gS] (oU;tho 

vH;kj.;@izkdf̀rd m|ku) dgykrk gSA 
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 (v)   tks tho viuk Hkkstu Lo;a la'ysf"kr 

djrs gSa (Loiks"kh@ijiks"kh) dgykrs gSaA 

(?k)  crkb, fd fuEufyf[kr dFku lR; (l) gSa 

vFkok vlR; (v) % 5×1=5 

 (i)   Hkwfe lHkh ltho izdkjksa ds vkfoHkkZo 

vkSj fodkl ds fy, vk/kj gSA 

 (ii)   ehBs ty ds :i esa miyC/ ty dh 

ek=kk ty dh dqy ek=kk ds 5% ls 

vf/d gSA 

 (iii)  ,slh ijLijfØ;k ftlesa nksuksa thoksa dks 

ykHk gksrk gS] lgHkksftrk dgykrh gSA 

 (iv)  izkphu euq"; vius vfLrRo ds fy, 

df̀"k ij fuHkZj djrs FksA 

 (v)   'kgjhdj.k lhfer {ks=k esa cM+h la[;k esa 

jgus okyh tula[;k dk ifj.kke gSA 
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2- (d) vkS|ksfxd fodkl ds laHkkfor ladVksa ij ppkZ 

dhft,A  7 

([k) vUrtkZrh; lEcU/ksa dk o.kZu dhft, vkSj 

O;k[;k dhft, fd buds }kjk fdl izdkj 

tula[;k dks fu;af=kr fd;k tk ldrk gSA 8 

3- ouvi:i.k] e#LFkyhdj.k vkSj oU;thou dh gkfu 

ds fy, mÙkjnk;h ekuo xfrfof/;ksa ij ppkZ dhft,A 

15 

4- (d) tSfod ra=kksa ij iznw"k.k ds izHkkoksa dk o.kZu 

dhft,A  7 

([k) i;kZoj.k ij Hkw&fuEuhdj.k ds izHkkoksa dh ppkZ 

dhft,A  8 

5- (d) O;olk; lEcU/h jksxksa vkSj LokLF; ij muds 

izHkkoksa ds fo"k; esa fyf[k,A 7 

([k) vif'k"V mRiknu ds i;kZoj.k ij izHkkoksa dk 

o.kZu dhft,A 8 
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6- (d) lrr~ fodkl dh vo/kj.kk dk o.kZu dhft,A 7 

([k) ck?k ifj;kstuk ds lUnHkZ ds lkFk Hkkjr esa 

oU;tho laj{k.k ds Lrj ij ppkZ dhft,A 8 

7- (d) ty xq.koÙkk ds izca/u ij ppkZ dhft,A 7 

([k) i;kZoj.k lEcU/h f'k{kk esa ifjorZu ds deZdksa ds 

:i esa xSj&ljdkjh laxBuksa dh Hkwfedk dh ppkZ 

dhft,A  8 

8- fuEufyf[kr esa ls fdUgha rhu ij laf{kIr fVIif.k;k¡ 

fyf[k, %   5×3=15  

(d) tSovko/Zu 

([k) ikjaifjd d̀f"k@[ksrh 

(x) Hkwty iznw"k.k 

(?k) tSomoZjd 

(Ä) i;kZoj.k ij lkekftd tkx:drk dk egRo 
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